
230 W. Coleman St. • Rice Lake, WI 54868 • USA
U.S. 800-472-6703 • Canada/Mexico 800-321-6703 • International 715-234-9171 • Europe +31 (0) 88 2349171

www.ricelake.com   www.ricelake.mx   www.ricelake.eu   www.ricelake.co.in   m.ricelake.com

Rice Lake Weighing Systems is an ISO 9001 registered company. 
© Rice Lake Weighing Systems      Specifications subject to change without notice.

Bench Scales

Column Kit, 12" and 18"
Used With PN 112044 & 112045

The bench scale column kit may contain additional hardware components which are not required depending on the 
scale or indicator being used. Each column kit consists of the following: 

Part 
Number Description Qty

105453
108071

12" Column 
18" Column 

1

106462 Cap screws, 1/4 - 20NC x 1-1/2 

Note
Used on Benchmark™ SL/CW-80B/Benchmark HE/CW-90 base/CW-90X 
base/Benchmark (12" x 18"), part numbers, 32918, 32919, 86950, and 86951 only.

2

106475 Column spacer support 2

14645 SST jam nuts, 1/4 - 20NC Hex 2

35128 Bench scale feet, 1/4 - 20NC 2

65052 3-Prong knob, 1/4 - 20NC x 3/4

Note   Used on IQ plus® 390-DC or IQ plus 590-DC indicator only.

2

65053 Nylon washers, 1/4 x 1 x 5/16

Note   Used on IQ plus® 390-DC or IQ plus 590-DC indicator only.

2

97323 Cap screws, 1/4 - 20NC x 3 hex

Note   Used on mild, stainless steel or HE version Benchmark 12" x 18" and up only. 

2

October 20, 2014 112079 Rev A

Disc
on

tin
ue

d




